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QUESTION 1

While reviewing logs, an administrator discovered that an incoming email was processed using policy IDs: 

0:4:9.

 Which of the following statements are true? (Choose two.) 

A. 

FortiMail applied the default behavior for relaying inbound email 

B. 

FortiMail configuration is missing an access delivery rule to process incoming email 

C. 

Incoming recipient policy ID 9 has the exclusive flag set 

D. 

Email was processed using IP policy ID 4 

Correct Answer: AC 

 

QUESTION 2

Examine the access receive rule shown in the exhibit; then answer the question below. 
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Which of the following statements are true? (Choose two.) 

A. Email from any host in the 10.0.1.0/24 subnet can match this rule 

B. Senders must be authenticated to match this rule 

C. Email matching this rule will be relayed 

D. Email must originate from an example.com email address to match this rule 

Correct Answer: CD 

 

QUESTION 3

Which of the following statements are true regarding FortiMail\\'s behavior when using the built-in MTA to process email
in transparent mode? (Choose two.) 

A. FortiMail can queue undeliverable messages and generate DSNs 

B. If you disable the built-in MTA, FortiMail will use its transparent proxies to deliver email 

C. FortiMail ignores the destination set by the sender and uses its own MX record lookup to deliver email 
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D. MUAs need to be configured to connect to the built-in MTA to send email 

Correct Answer: BC 

 

QUESTION 4

Which of the following CLI commands, if executed, will erase all data on the log disk partition? (Choose two.) 

A. execute formatmaildisk 

B. execute formatmaildisk_backup 

C. execute formatlogdisk 

D. execute partitionlogdisk 40 

Correct Answer: CD 

 

QUESTION 5

Examine the FortiMail topology and access receive rule shown in the exhibit; then answer the question below. 
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An administrator must enforce authentication on FML-1 for all outbound email from the example.com domain. Which of
the following settings should be used to configure the access receive rule? (Choose two.) 

A. The Sender IP/netmask should be set to 10.29.1.0/24 

B. The Authentication status should be set to Authenticated 
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C. The Recipient pattern should be set o *@example.com 

D. The Action should be set to Reject 

Correct Answer: CD 
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